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co2 1 AHEBHEETIR(EZET (M7 )~ BRRE/ Mz Rt 2520t X 17km X 177.3x10° = 7.60 t-C02
2 HEZRE/ el 'K (b5 y o )-BiMI L S —(iT ) 3400t x 56km x 1773 x 10° = 33.76 t-C0O2
3 AdEBHETR(ZAN IS )—Bibvittl 5 - 4440t X 43km X 177.3X10° = 3385 t-C02
At EHEITIB(E2ATHI-(Fvo)—-Bt XLt 2—(KIlTH) 1,000t X 43 km X 177.3 X 10_6 = 7.62 t-C02
4 EHEB(REHI-(Mvo)—HERRE 19,200t X 32km X 1773 X 10-6 = 108.93 t-C02
CO2HEtL 25 191.76 t-C02
1 AfEHBRTIB(EAT - (rvo ) ~AHBHRA L 7—({R¥H) 11,360 t X Bknx 1773 x10° = 12.08 t-C02
2 AHBEHEB(RMEH 1-(b5v7 )~ BRABMRE L 2—(RHF) 19200t X 32km X 177.3x10° = 108.93 t-C02
CO2HFth 25t 121.02 t-C02
co2 191.76t-CO2 — 121.01t-CO2 = 70.75t-CO2

70.75t-CO2 / 191.76t-CO2 = 36.9%
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C0o2

10 x 3,200 x 400kmx 161x 0.8x 10s 1,648.64t-CO2
32,000tx 400kmx 161x 105 2,060.8t-CO2
10t x 3,200 x 50kmx 161x 0.8x 10 206.08t-CO2
28,800tx 50kmx 161x 105 231.84t-CO2
10t x 3,200 x 200kmx 161x 0.8x 10e 824.32t-CO2
28,800tx 200kmx 161x 10e 927.36t-CO2
23,000tx 50kmx 161x 10e 185.15t-CO2
10,000tx 70kmx 161x 106 112.7t-CO2
10,000tx 70kmx 161x 106 112.7t-CO2

C0o2

| 6,309.59t-CO2 ]’,

10 x 2,560 x 400kmx 161x 0.8x 106

23,040tx 400kmx 161x 10s 1,483.77t-CO2

10t x 2,560 x 50kmx

161x 0.8x 10s

23,040tx 50kmx 161x 106 185.47t-CO2

10t x 2,560 x 200kmx 161x 0.8x 106

23,040tx 200kmx 161x 10s 741.89t-CO2

27,600tx 50kmx 161x 10-6
12,000tx 70kmx 161x 106
12,000tx 70kmx 161x 106

222.18t-CO2
135.24t-CO2
135.24t-CO2

1,318.91t-CO2

659.46t-CO2

164.86t-CO2

[

5,047.02-CO2 | o
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64.85 t-CO2.
32.43 t-CO2.
30.55 t-CO2.
33.72 t-CO2.
22.42 t-CO2.
34.73 t-CO2.
t-CO2

5.87 t-CO2.
2.94 t-CO2.
1.06 t-CO2.
4.22 t-CO2.
2.76 t-CO2.
5.24 t-CO2.
t-CO2

t-CO2
t-CO2 =+ . t-CcO2
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